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31100 H3 30 648 216 216 216 B 37—
Y3015 T HUE . 3292 32 32 2B 9K
31700 % ¥ <Y 60 3,024 540 486 486 FyN 64— %
31800 F ) AK 35 6, 226 43 43 24 B 1765
36800 5o L9 20 9,180 648 378 378 BN 20kg
Y3041 ALHH-& k9 16 3, 456 216 216 216 5 16kg
34400 bk | R ) 20,509 248 238 173 BN 9lkg
60 |S=eke L ABa T T4 TARA ke
35220 | X M X RHIT 1,153 216 173 108 5 6kg 7
35303 A F v T EXAED 17 2,533 173 140 140 BN 17kg
Y3026 Afy7 EZAE D (FE) 1,458 486 486 486 5 3kg
35400 5 EWD 4 287 76 76 =12 4kg
35402 AXEE 16 13,284 1,080 648 648 BN 16kg
36200 FEEnE o 40 7,776 194 194 194 BN 740kg'
36260 (= L b7 1,230 258,768 2,484 2,160 1,944 BN 1234 — %
36600 7-FHE 12 1, 555 130 130 130 &M 12kg
33400 (L& R 10 1,728 86 86 86 k51N 201#
36700 (ZANZK 7 3 1,296 49 49 - 38 B/ 304
46108 | XANFONEE % 34,414 508 410 356 P 8473 7
721011 A7 L—%4 58, 498 61 50 17/ BH 1, 4404
71030 | KT 924 132 132 132 By R
721070 7 U —7 4, 840 24 12 12 BN 3004
71286 7 a—Jn N 5,363 1mo.. 99 94 /AN 55K
53456 | 7o 7072l 3 648 216) 216 216 kM _ 3kg
53101 |1E L AR 1 648 648 648 648 5N kg
Y5010 Hh5E (#F) 16 7,341 540 389 389 M 16kg
30100 72V Z A L 30 5, 184 1,728 1,728 1,728 BEVEE 37—
30100 72V A B 25 1, 296 54 54 43 BRI 256K
30100 (FWVWZ A C 5 216, 216 216 216 FEYL iy 7
30300 A% 7 L 80 13, 824 1,728 1,728 1,728 fEEE @ 8/ —A
31100 3¢ 225 7, 884 864 432 432 BEVR 154 — A
33810 | HMEE 1,188 1,188 1,188 1,188 FEVLE; 14— |
33810  HAE 972 49 49 49 FEVL R 2014%
Y5005 A KEAN 1,566 1,566 1,566 1,566 K%y =2
31700 (¥ ¥~V 7 30 1,296 432 432 432 RE 34—
31800 1EHMAL 10 1, 890 38 38 38 fiEA 504%
31950 HAX B 2L 15 5, 400 1,296 1,080 1,080 FEVE 5 5A— R
31900 fX S 10 4,439 324 184 184 HE I 207 (500g)
32800 25 ' 2 1, 296 65 65 65 I 207
34300 729 35 11,448 1,728 1,728 1,404 fEAK Tr—A
34300 72 2L 10 4,320 2,160 2,160 2,160 fEA  25—=%
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ih 4 Hoh W7 i s ik |
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34400 | k< b 12 1, 620 540 540 540 JiE I8 B 3r—%
34100 | #1/IC 80 15,012) 1,188 864 756 FEVEE 164 — A
34100 HI L S0 3,672 1,836 1,836 1,836 IR @ 2r—x%
34200 g 30 7,452 2,484 2,484 2,484 =2 —— 3/ — R
7K
36600 7 FNX Lk 120 12,960 2,160 2,160 2,160 dLiiEE 64—
33600 /5t Y 1 648 216 108 54 P 548
33300 | Tuyal)— 7 2,938 173 173 173 R 17{#
33300 Ty Ty — 7 18 4,83 97 97 38 jEA 601
31310 AP 4 1,512 76 676 fa@l 20%%
31500 /A 15 3, 040 54 32 RPAE AR 754%
32500 | ol 4 454 12 12 11 f@ 0%
36340 LNz HLHE 2L 5 3,240 3, 240 3, 240 3,240 FEIR S 17— A
37560 FF1E 1 2,462 324 324 292 A%y 8%y
38300 728 = 1L 864 86 86 86 K% 104%
38400 2O XH 5 L,404 1,404 1,404 1,404 Ry 14— A
38400 |z 0 X1 15 2, 862 22 17 17 EL 150%%
38604 T LoH 3 1, 296 43 43 43 Rty 3048
41480 L 50 B 220 6, 858 432 324 108 HEA 224 — %
a3 2,688 585, 597 | ' E |
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